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T. Y. B. Com. Examination

Business Statistics (Compulsory}
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Note: Use of Statistical Tables and Calculator is allowed.
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C 6.50 12 9 15
D 10.80 5 12.50 10
E 4 7 5 9
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Explain the meaning of correlation and regression and Differentiate between 06

two.

Regression equations for two variables are as below.
3X+2Y-26=0and 6X+Y—31=0 and variance of Xis 25

using these information find mean of X and Y, two regression coefficients and

variance of Y

Find Rank Correlation coefficient from below given data.

State properties of Regression coefficient.

From the following information find coefficient of correlation between X and Y

using product moment method.

‘Rank | 9 3 8 5 1 4 10 7 2 6
of X
Rank | 2 8 3 6 10 7 4 9 5
of ¥

Or

Xi- |75

82

90

62

65 |39

75

78 | 36

98

Y- |60

62

86

58

53 |47

68

84 |51

91

If X=2304,Y=26.55=64,S=8andr=056

Then find two regression lines.

Explain the Meaning of Time Series and state its various uses.
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From the following information construct Index numbers of Llaspeyre's, 08
Paasche’s, fisher and Marshal- Edgeworth.

tems Base Year Current year
price Quantity price Quantity
A 3 26 4.50 30
B 8.40 15 10.20 20
C 6.50 12 9 15
D 10.80 5 12.50 10
E 4 7 5 9




(c) Find Seasonal indices for the following time series 06

Year Q4 103} Qs Qu
1097 37 41 33 35
1998 37 39 36 36
1999 40 41 33 31
2000 33 44 40 40
or
Q.2 (a) Explain the method of constructing cost of living index. 06
(b) For the following time series obtain Trend by method of least squares. Also 08
find short term fluctuations. '
Year 1990 | 1991 | 1992 | 1993 | 1994 | 1995 | 1996
production | 12.7 | 10.1 | 13.0 | 13.2 1126 | 14.2 | 13.7
(¢) Find cost of living index no.from the following information 06
ltems Weight index no.
Food Articles 48 350
Cloths 15 - 230
Fuel 10 190
Rent 12 160
Miscellaneous 15 210

Q.3 (a) State mathematical definition of probability and explain the following terms. 06
(1} Mutually Exclusive events
{2} Sample Space
(3) Union of events
(4) Intersection of events
{5) Difference events
(b) In a box there are 9 red, 7 black and 5 white balls. If three balls are taken one 06
by one without replacement find probability that there is a red, black and
white bail respectively.

(¢) Find Expected value of X and variance of X for the following probability ' 08
distribution. -
X 1 2 3 4 b 6
P(x} 0.10 0.15 0.20 0.25 0.18 0.10
Or
Q. 3 (a) Define Mathematical Expectation and state its properties. 06
(b) Inusual notations prove that P{A U B) = P(A) + P(B}— P(A n B) 06

(c) AandBaretwo independent events and the probability that either event A 08
happen or event B happen is 1/3, probability that event A happen and B does
not happen is 1/9 then find probability that, (1) only event A happen
- (2) only event B happen.
Q.4 {(a) State properties and uses of Binomial Distribution. 06



Q.5 (a)
(b)

(c)

For a Poisson variate, if P{1) = P(2) then find the value of P{3)

For a Norma! Distribution P(x < 359) = 0.078 and P(x < 510) = 0.9452 find
mean and standard deviation of the distribution.
Or

State properties of Normal distribution.
For a binomial distribution, n = 6, and P{x = 3} = 0.0625, and

P(x = 4) = 0.1250 then find the probability of success P.
For the following information find Expected frequency using Poisson
distribution.

No. of defects (x} {0 1 2 3

Items (F) 79 18 2 1
State properties of t-distribution and state its uses.

Co-efficient of correlation for 18 pairs of observation is found to be 0.52. Test

significant of population of correlation co-efficient.

Foliowing is the information of random samples taken from two Normal

populations. Test the hypothesis that population variances are equal.
Sample | 8 |5 7 8 3 2 7 6 5 7
Samplell | 3 [ 7| 5 6 5 4 4 5 3 6

Or :

Explain the method of test of significance of difference between two sample

means Jsing 1 - test.

Write a short note on Analysis of variance for F test.

A balanced Dice is tossed for 150 times and the following results are obtained.
Test at 5% level of significance that dice is unbiased.
No.onthe |1 2 3 4 5 6
-Dice
Frequency | 19 23 28 17 32 31
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